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xi-stay CHEMISTRY [TIME:1.00 Hr
o N E M ARK (Maxinum Marks : 50)
Unit. 1. Baslc Concepts of Chemistry and Chemical Calculations
TEST NO . 1 2. Quantum Mechanical Model of Atom
. 3. : Periodic Classification Of Elements
Choose the correct answer : 50x1=50
1.

2.

10.

11.

The equivalent mass of trivalent metal element is 9 g eq*, the
total mass of its anhydrous oxide is

------------

(@) 102g m) 27 g (c) 270 g (d 78g
The total no. of electrons preéent in 1.7gof NH, is

2x10% 22 %10 9 10
(a) 6.022 X 10° (B) -6_-92_;_"7_10__ (c) 9-0-;;10 (@ 6.021_;10
The equivalent mass of KMNO, in alkaline medium is

----------

(@) 31.6 ) 52.7 = (c) 79 (d) none
Which one is the 180 of H O ? .......cccue .
(a) 5 moles of H,O . (b) 90 imoles of H,O

6.022x107
() >3 molecules of H,0 (d) 6.022 X 10* moleculs of H,0

Molar mass of acetone is

--------

(a) 60 g mol* (b) 62 gmol’ (c) 58 ¢ mol' (d) 98 g mol!

No. of moles of oxygen in H O ..........

(a) 2 @) 3 fe) 1 d 4

lamuis ...

fa) 1.6605 X 10* kg (b) 1.6G25 X 10% kg

(c) 1.6605 X107 kg (d) 1.6605 X10°2% kg

The volume occupied by any gas at STPis .....cccceue

{a) 24.41 (b) 2.24 1 (c) 2241 (d) 0.224 1
12 g of carbon-12 contains ......... carbon atoms.

fa 6 (b) 6.022 X 10% (¢) 12 (d) 12.022 X 10

Calculate the percentage of Nin NH, is ..........

(@) 121.42% (b) 28.35% (c) 82.35%  (d) 28.53 %

The compound in which mass percentage of ‘C’ is 75% ‘H’ is 25 %
- (@) CH, (b} C,H, (c) CH, (d) CH,

12.
13.

14.

15.
16.
17.

18.

19.
20.
21.

22.
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The oxidation number of ‘H’ in LiH is ..........
(@ H ®) -1 (c) +2 (d) -2
Cu?+ e — Cu' is ccceecenne reaction.

(a) 1Redc»x (b) Reduction (c) Oxidation (d) Decomposition
The iincreaav.sing order of oxidation state of sulphur in anions .......
S0.2-, S02-, §,0.2, S,0.2~

(a) SO?- < SO7"< 8,0 < 85,0,

(b) SO2- < S,0,.2-< 5,02 <S02"

(c) S,0,2- < SO2-< S,02 <S072"

(d) S,02-< §,0.2"< SO~ <S0.2"

Which one of the following is used as standard for atomic mass ....
(a) = () €2 (e) (d

The energy of eight of wave length 45 nm is ...........

(@) 0.67 X 105 J(b) 6.67 X 101! J(c) 4.42X 104 J(d) 4.42 X 1075 J
Splitting of spectral lines in electric field is called
(a) Zeeman effect (b) Shelding effect (c) Compton effect (d) Stark effect
Which of the following pairs of d-orbitals will have electron
dénsity along the axes ? ...........
@) dz?, d_ M) d_,d, (c) d2 da_ 2 (@) d_,da_z2

The maximum no. of electrons in a sub shell is given by
(a) zn? (b) 21+ 1 (c) 41+ 2 (d) none
The total no.of orbitals associated with the principal Quantum
nuinber n = 3 is ........... (@ 9 (b) 8 (c) 5 d) 7
Electron density in Yz plane of 3d 2_ - orbital is .........

(@) O (b) 0.50 (e) 0.75 (d) 0.90

What is the debroglie wavelength (in cm) of a 160 g cricket ball
travelling at 140 km hr! ........

-----------

---------

(@ 10.65X 10%m (b) 0.165 X 10°°cm
(c) 1.065 X 10**m (d) 100.6 X 10 m
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XI - ST]) 2018 - 2019 13. Which of the following compounds hydrogen has an oxidation state
xi.sqy CHEMISTRY [TIME:1.00Hr o1
ONE MARK povervitb- S| I -
Unit. 4. Hydrogen 5. Alkall and Alkaline Earth Metals (a) CH, (b) NH, (c) HCl (d) a2
TESTNO: S !
2 6 Gaseous T22 14. The structure of H,0 i woceeernunnes
Choose the correct answer : ~50x1=250 (@) Bent (b) Tetrahedral
1. Water gasis ..cooceveeee (c) Distorted octahedral (d) Trigonal bipyramidal
fa) H,0, () CO +H,0 (c) CO+H, (d) CO+N, 15. FeSO, contains ......... moleculos of water of hydration.
2. lomic hydrides are formed by ......... @ 5 m 7 (c) 10 @ 12
(a) Halogens (b) Chalocogens (c) Inertgas  (d) Group- 1elements| 16 The H— O—H angle in H0 5 cccocvveee
3. Tritium contains ......c.c.e (a’ 9Q° ‘b) 104.5° (c, 109 stl (d) 180°
fa) 1p + on (b) 2p + In (c) Ip + 2n (d) none 17. The maximum density of H,O 18 ..coooneeee
4. The cause of permenant hardness of water is due to ........ . (a) 0°C () 4°C (c) 11.6°C (d) 273°C
fa) Ca H@CO), (b) Mg (HCO), (c) CaCl, (d) MgCO, 18. Among LiH, NaH, KH, RbH, CSH. The correct order of increasing
5. Volume strength of 1.5 NH,0, T JP ionic characteris ......cc...
fa 1.5 (b) 4.5 (c) 16.8 (d) 8.4 (a) LiH > NaH > CSH > I{H > RbH
6. The no. of neutrons in Hydrogen atom T (b) LiH < NaH < KH < RbH < CSH
fa) 3 M) 2 fc) 1 (d) 0 (c) RbH > CSH > NaH > KH > LiH
7.  .i.oo.. is Emown as heavy hydrogen. (d) NaH > CSH > RbH > LiH > KH
” Protium rb) Deutrium (C) Tritium (d) Botha, b 19. B,O, AcCtS 88 .cicvnserns reagent.
8. The half life period of 2 08 veenneen (a) Oxidizing (b) Reducing (c) Both reducing and oxidizing
(a) 12.33 secs (b) 12.33 mins (c) 12.33 hrs  (d) 12.33 years (d) Neither reducing nor oxidizing
20. Example for covalent hydride is .....ccceut
9. co"qrn,om-"—c;?i‘gzcom+uzm P
(a) CaH, (b) CH4 () TIH  (d) All the above
faj N (b) Fe {c) Iron oxide (d) V,0,
21. Hfhas ...ccccont H-bond.
10. Hydrogen can be obtained from water by reaction .........
(a) Intramolecular (b) Inter molecular
(a) Metal oxides (b) Non metal oxides (c) Metals (d) Metal hydrides
(c) Intrasteller (d) Interstellar
11. Hydrogen burns in air with a flame ..........
22. Sodium storedin ......ccceenes
fa) Light bluish (b) Yellow fc) Green (d) None
12 nidi Jo (a) Alcohol (b) Water (c) Kerosene (d) None
i 2 ke 23. Lithium shows diagonal relationship with ..........
Proton ‘ "
fa} spin (b} Electron spin (c) Nuclear charge (d) Both b, ¢ (a) Na () Mg %) ta (@ Al [PTO
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In case of alkali metal halides the ionic character increases in the
(a) MF<MCI<MBr<MI . (b) MI < MBr < MC1 < MF
(c) MI < MBr < MF < MCI (d) None
Which of the following has highest hydration ENErLY «crvees
(a) MgCl, (b) CaCl, (c) BaCl, (d) Srcl,
Formula for Gypsum is ...... W
(a) Caso .2H,0 (b) CaSO,. % H,0 (c) 3CaS0,.H,0 (d) 2CaSO,. 2H,0

Among the following the least thermally stable is .........

{(‘l) K,CO, (b) Na,CO, (c) BaCoO, (d) Li,CO,

Rubidium belongs to ............. group.

(a) Transition (b) inner transition (c) Alkali (d) Alkaline earth
t, of Francium is ..........

(@) 12.3 years (b) 12.3 mins (c) 21 years (d) 21 mins
Oxidation state of alkali metals is .......... '
(@) +1 m) +2 (c) +3 (d) +4
‘Which among the following is the strongest reducing agent ?.......
(a) Na m) K (e) AC (d) Mg

Which of the following oxides in most basic nature ? .......... .

(a) Na,0 (b) BeO (c) Li,0 (d) H,0

Which hydroxide decompoeses on heatiLng f T

(@) NaOH (b)) RbOH  (c) KOH (d) LiOH

Electronic configuration of 2 S-block elements .........

(@ ns  (B) nst (c) nsnpl  (d) ns*np?

Oxidation state of alkaline earth metals is ............

(@) +1 b)) +2 (c) +4 (d +6

Alkaline earth metals are ...........

(a) Monovalent (b) Divalent (c) Trivailent (d) Zero valent

Which of the following is the correct equation for Vander Waals
7as ? .,......

a
(@ [+ e yr @) S r——
( an’ o
(c) 1\P+__,;2J(l’—nb)=nRT (d) (’”,'.' < J(l'—nb):nRT

38.

39.

40.

41.

42.

43.
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45.
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48.
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The value for gas congtant is .....
(a) 0.082 dm® atm (b) 0.987 cal mol ™! k™
(c) 8.3 Jmol k™ (d) 8 erg mol k!
Maximum deviation from ideal gas is expected from ..........

(@) CH, (b) NH, (d) N,
Pressure is ..cco.o.
(a) Force /area (b) Force X area
(c) Area / Force (d) Force / area X volume
The absolute Zero is ......ceeveeee
(a) —273°C () 273°C
Van relates the ........... law.
(a) Boyle’s law (b) Charles law
(c) Avagadro’s hypothesis (d) Gay lusacc’s law
The law relates with pressure and volume is .........
(a) Boyle’s (b) Charles (c) Dalton {d) None
Partial pressure is given as ..........
(a) Mole fraction (b) Mole fraction X Total pressure

Total pressure
(c) Mole fraction X total pressure (d) 2 X mole fraction

2 . Total pressure

Mathematical equation for Grahm’s law of diffusion is .......

M, n | M,
vl ot w 1]

Compression factor ‘Z’ is given,by

P ’ 4
@ 2 ®) - €@ = @ =
When the gas behaves ideally, the ‘z va.lue iS cereenens -
(@) > 1 M) <1 (c) = (d) =1
Which mixture of gases at room temperatu.re does not obey Dalton’s
law of part:al pressure ? ....... .
(a) NO (b) SO,, SO, {c) co, co, (d) NH,, HC1
The correct increasing order of liqueﬁabi].ity of the gas ? ........
(a) H, < CO, < CH, < CN, () H,<N,<CH,<CO,
(c) CO, < CH,<H, <N, (d) CO,<CH,<N,<H,
The mversion temperature for a. gasis ....ueeeee

(a) Rb () E (e) '7a a

SN W DN S RN G SR — -
XI -Std-Chemistry - Q.M. T.-2

(c) OK (d) both a, c

: M M,
(@) M,
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XI.stD

ONE MARK

XISt CHEMISTRY [r1ME: 1.00 5.

(Maxiroum Marks : 50)

TESTNO : 3 umr.;: ;‘:&I;unt:l;iynamlca 8. Physical & Chemical Equilibrium
Choose the correct answer : 50x1=50
1. Inanadiabatic expansion of ideal gas ........
{a) W=-AU ) W=AU+4H o) AU=0 (d w=o0
2.  The heat of formation of CO and CO, are - 26.4 KCal, - 94 KCal.
Heat of combustion of CO s ........ .
(a) +26.4 KCal (b) - 67.6 KCaI (c) - 120.6 KCal (d) 52.8 KCal
3. Which of the following is not thermodsvnamic function ? .........
(a) Internal energy (b) Enthalpy fc)_ Entropy (d) Frictional energy
4. Inanisothermal reversible compression of an ideal gas the sign of
q, AS, w are ..........
(@ +-,- B ~+,— (o) h— @ -y
5. All naturally occuring process are ........ process.
(@) Reversible (b) Irreversible (c) Cyclic (d) Isochoric
6. Foranisothermal process ............. ; . _
(al g=0 (b) dv=0 (¢) dT=0 (d) dp=0
7. Internal energy denoted by .......... @ H @S ()G (4 U
8. The SI unit of heat is ...... _(a) Joule (b) Calorie (c) Mole (d) J mol!
9. Identify the suitable condition for adiabatic process ........ 5
. < (i) AT=0 (i) 4p =0 (i) ¢=0 fiv) W=0
(a) only (i) (b) only (iii) fc) (i)» (i) (d) (i), (ii), (iv)
10. 1stlaw of thermodynamics does not give information about ...........
(a) Spontaneity (b) Feasiblity (c) a, b (d) neither (a) nor (b)
11. SI unit of molar heat capacity is ......... ;
(a) J mol ~? (b} KJ mol ~* (c) JK -1 mol ! (d) JK !
12. When water freezes in a glass beaker AS of the system .........
(a) AS>0 () AS<0 (c) DA=0 (d) AS>0
*13. Condition for spontaneous endothermic reaction is ........
(@) AG >0 (b) AG<O0 (c) AG=0 (d) AG may be +ve, — ve

14,

15.

16.

17.

18.

19.

20.

21.

22.

23.

-2-
AG’ of reversible reaction at its equilibrium is ...........
(a) +ve (b) -—ve (c) zero (d) both a, b
The condition for std. free energy is ...... _
(a) 298 K, 1 atm (b) 273 K, 1 atm (c) 298°C, 5§ atm (d) 25 k, 1 atm'
Which isrtrue about cyclic process ? ........... I'
(@) AU=0, AH =0 () AU>0,AH <0
(c) |AH = 0, AU < O (d) AU =0, AH < 0
In endothermic reaction 4H is ....... sves 1
(a) =0 (b) _> O fc) <0 ‘ (d) Constant
The equilibrium constant for a reaction at room temperature is
K, and that 700K is K, If K, > K, ........c...
(a) Forward reaction is exothermic : '
(b) Reverse reaction is endothermic
(c) Does not attain ecjuilibrlum (d) Rate does not change
K, / K, for the reaction , Nnm + 3Ham - 2NH3‘ 0
(@ - ) JRT () RT (@ RT)?
Fe(OH),  — Fe*  +3 OH" . If the concentration of OH" ior.
decreased by %a times, then the equilibrium concentration of
Fe® will ...........
(a) ‘Not changed (b) Decreased by Ya times
(c) Increased by 4 times (d) Increased by 64 times
Which of the reaction does going to cominlet.ion P coneen
(a) KC = 10° () KC=100 (c) KC=102 (d) KC=10"
N, + 0, —2NO KC for %2 N, + ¥2 0, = NO the KC will be ..........
(@) K ) & () K @ 5
Th;: ratio for Kp/Ke for CO + %20, — CO, is .....cece
(@ 5 @ RT ) ®D~ @ 7

[PTO
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For CaCO,, — CaO A +CO, K = ; 3T 38. Which of the following should have max. value for K ?
(a) KC () KC RT (c) KC (RT)? (d) KC (RT)- (a) He (b) H, (c) N, (d) co,
3A+2B — C the ‘K’ value is ..o.oe... : 39. ' In a binary solution ........c...... K
(] el (a) Solvent may be liquid (b) Solvant may be solid
3A1x[2B] AV (B
(a) [_[C%_ (b) L—[lgl—l (c) [ATIBT (d) (34]x[2B] (c) Solute may be gas (d) Any of these
' 40. 18 % solution of urea is (mol mass = 60) (W/V) ...c.ccee
A+4B — AB, is attained by mixing equal moles of A, B in 1 litre :
vessel t;:n at4e uilibrium ! ¢ 5 ’ fdj 100 (b) 2 M s 4 M
‘ e et s ., - 41. The solution having minimum boiling point is .........
= >
() (4] =B b 14> NG (@ _"] A (a) 0.1 M C,H,,0, (b) 0.1 MCaCl, (c)0.1M NaCl (d) 0.1 M AICI,
Rate constant for forward reaction is 2.5 X 10%? and KC = 50 then 42, PorDoi-elsptiohtic soiution
‘K’ value for reverse reaction is .......... ) ’ ‘ _
i (a) i = +ve () i =-ve fc) 1=0 d) i=1 I
) IS ‘b}u : . gc) %44 [ 2 530° 43. Theé normality of 10% (w/v) CH,COOH is .......... i
The example of solid solution is ............ . ‘
(a) 1N () 10N c) 1.7N (d) 0.83 N |
f) Glugoss:in L0 (b) - Copper in gold 44. Osmotic pressure of 0.1 M NaClat 27°C .......... 1
(c) Camphor in nitrogen (d) Oxygen in nitrogen (@ 4 atm (5] 2.46 atm (c) 4.92 atm (@ 1.23 atm i
tainin i
Ui mmulnlly otpgiafsomn cost g 1.8 g of glucose digsolved in 45. Which of the following equimolar solution have highest vapour I
250 g of HO is .......... AT | I
(@) 0.2 M (b) 0.01 M (c) 0.02 M (d) 0.04 M FRCABEIENS ssgsranents .
Which of the following is/are independent of temperature ? {a] Btz fo) Nacl (c) ¥,S0, e} K FECN), |
"""""" : llowing maximum freezing point ? ..........
fa) Molality (b) Molarity (c) Mole fraction  (d) @, c 46; Which:ofthie following n EP
Which is having lowest Henry's law constant P (a) Pure H,0 (b) 0.1 M NaCl  (c) 0.01 M naCl, (d) 0.5M NaCl_,
: anew {b)gH n:y} co S 47. When saturated solution KClis heated becomes ......... :
e c
f:}sor:etic ressure is given by .......... ) ’ (al¥unsaiated (b) " Bupersaturated
_ nR; (b) 2V = nRT' (c) "RT=n (d) None (c) Remains saturated (d) Attains equﬂibrium
i:) ”a-].i f1.25M HSO. is 48. The correct equation for the degree of an association solute ‘n’
( 7?2 51: A ®) 3 ;5 _,; (c)‘#s N (d) 2.25N molecules of which undergoes association in solution is ...........
a) 1. 2 ; -
The Van’t Hoff factor for dilute a‘jeous solution of strong (@) a= ”U‘I') B) o = w”‘i_l') (c) @ “ =1} (@ a= ,:f: :;
OH), 18 .ocsvvsies 0 1 ()2 (d3 n= e —H
:.l: Ctm‘yla-: Bi(f 1(;3/[: /w aqe o::i NaCH l:} ” 49. The relative lowering of vapour pressure of sugar solution in H,0
(@) ezn‘a;;s o ﬂ; 2.5 q 85 (d) 0.4 is 3.5 X 10-. The mole fraction of H,0 in that solution is ........
Which of the following i highest boiling point ? ........... (a) 0.0035 (b) 0.35 (c) 0.035/18 gl eSSt
50. Among the following mixtures dipole-dipole as the major

(a) 0.1 M KNO, (b) 0.1 M Na PO, (c) 0.1 M BaCl, (d) 0.1 M K,SO,
Phenol dimerises in benzene having Van’t Hoff factor 0.54. What
is the degree of dissociation ? .......

(a) 0.46 ®) 92 (d) 0.92

https://www.trbtnpsc.com/2018/06/latest-plus-one-11th-study-materials-tamil-medium-english-medium-new-syllabus-based.html

intcraction is presentin ..........
(a) CH,, CCI, (b} CH, C,H,0H (c) CH,COCH,, CHCN (d) KCL, H,0
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ONE MARK

(Maximum Marks : 50)

10. Chemical Bonding 11. Fundamentals of Organic Chemistry

TEST No . 4 12. Basic Conceptof Organic Reactions
Choose the correct answer : §50x1=50
1. Which one of the following is electron deficient ? .....
(a) PH, (b (CH), (c) BH, (d) NH,
2. Which one of the following is diamagnetic ? ..........
(@ O, ®) oF (c) ©; (d) None
3. The molecules having same hybridisation, shape, no.of lone pairs
of electrons are ........
(a) SeF,-XeO,F, (b) SF,XeF, (c) XeOF,TeF, (d)SeCl,XeF,
4; Non - zero dipolemoment shown by .........
fa) CO, (b) p - dichlorobenzene (c) CCl, (d) H,O
5. The ratio of no. of sigma 7 bonds in 2 - butynal is ........
(a) 8/3 (b) 5/3 (c) 8/2 (d) 9/2
6. Which of the molecule has no dative bond ? .........
(a) CO (b) SO * {c) CO*> (d) None
7. Formal charge of C - atom in carbonate ion ........
(@) -1 (b) O fc) +1 (d) +2
8. The molecule having double bond ........
(@) O, (®) N, () He, (d) H,
9. Correct order of covalent character is ........ 2
(a) LiC1 < NaCl < BeCl, (b) NaCl < LiCl1 < BeCl,
{c) BeCl, < LiCl < NaCl (d) BeCl, < NaCl < Lict
10. Which one has a planar structure ? ...........
{a) XeF, (b) XeOF, (c) XeO,F, (d) XeO,
11. Which one is a polar molecule ? .......
{a) BF, (b) SiF, (c) SF, (d) XeF,
12. CO, is isostructrual with ..........
(@) CH, {b) SncCl, (c) NO, (d) SO,

13.

14.

15.

16.

17.
18.

19.

20.

21.

- 22,

23.

24.
25.

26.

"

The molecule that has linear structure is ..........

(@) cO, (b) NO, (c) SO, (d) sio,

Stable molecule is ........

(a) Nb < Na (b) Nb = Na (c) Nb > Na (d) Nb> Na

How niany lone pairs, bond pairs present in SO* respectively
......... (@ 6,5 (b) 6,10 (c) 6,4 (d 6,3
Hybridisation of CO, is ...........

(@) sp? () sp° (c) sp (d) dsp?

Bond order for NO'is ....... (a) 2 (b) 3 (c) 4 (d) 4.5
The general formula for alkadiene is ......

(@ CH, (b|CH,, ) CH,, (@ CH,
lUPACnameofCHS-CH=CH-CECHis'. ........ s

(b) Pent — 3—en - 1 —yne
(d) Pent -1 -yn -3 —ene

(a) Pent —4 —yn — 2 ene
{cj Pent -2 —en — 4 —yne
The isomer of C,HOH is : 7
(a) CH,CHO (b) CH,-O -CH, (c) CH,-CO - CH, (d) methyl carbinol
Phosphorous estimated as ............

(a) Mg, P,0, (b) Mg (PO, (c) HPO,  (d) PO,
The purity of organic compound’s determined by .......

(a) Chromatography (b) crystallisation

(c) Melting or boiling points (d) botha&c

W'_hich of the following has linear shape ? .........

(a) CH, (&) CH, (c) CH, (@) CH,

The no. of isomer in CH , is ......... (@2 (M3 (g4 (@5
The general formula for alcohols is ...........

(@) CnH, 0, ) CH,O0 () CH,, (@ CH,,

Correct order of bond length for C -H, C-0, C-C, C=Cis......
(@ C-H<C-0<C-C<C=C

() C-H<C=C<C-0<C-C

[ C-C<C=C<C-0<C-H

{d C-0<C-H<C-C<C=C [PTO
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27. The principle of paper chromatography is ...........
(a) Partition (b) Sublimation (c) Adsorption (d) Filtration
28. How manys ¢, tbondsin CH, =C=0 ? .........
(@) 40,2t () 2o, 4n (c) 45, 4n  (d) 2o, 2n
29. Compounds having boiling points widely apart 40 k and above can
be purified by ..........
(a) Crystallisation (b) Sublimation
‘(c) Fractional distillation (d) Steam distillation
30. Hybridisation of each carbon in CH, - CH, ........
(a) SP- SP° (b) SP? - SP (c) SP° - SP° (d) SP- SP*
31. IUPAC name for the H,C - CH - CH - CH,
CGHB cﬁ“lﬁ .
(a) 2, 3 diethylbutane (b) 2-ethyl - 3 - methylpentane
(c) 2, 3 Dimethyl butane (d) 3, 4 Dimethyl hexane
32. No. of o bonds in each carbon of CH, = C = CH, w.cecveue
(@) 2o, 40, 1o (b) 20, 20, 26 (c) 3o, 20, 26  (d) 30, 20, 30
33.7CH,-C-CH,, CH,= C - CH, are ..........
I Il
o o ]
(a) Resonating structures (b) Tautomers
(c) Optical isomers (d) Conformers
34, Hybridisation of benzyl carbonium ion ? ..........
(a) sp (b) spd® (c) sp’ (d) sp’d
35. Which of the following species is not electrophilic in nature ? ...
(a) CT (b) BH, (c) HO*  (d) N'O,
36. Hyper conjugation is also known as ...........
(a) no bond resonance (b) Boker - Nathan effect
{c) botha, b (d) none
37. Which of the following does not exert a resonance effect ? ........
(@) CHOH (o) CHCl () CHNH, (d) CHNH,

38.

39.
40.
4‘1.
42.
43.

44.

'45.

46.

47.

48.

49.

50.

(a) Free radical
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Heterolytic fission of C-Br results in the formation of
(b) Carbanion - .

(d) Carbanion, carbocation
The shape of carbocation is ............

(a) Linear (b) Tetrahedral (c) Planar
Which of the following heterolytic compound

(a) Pyrrole (b) Furan (c) Thiophene

(c) Carbocation

(d) Pyramidal

-----------

(d) All of these

‘ The most stable carbocation is ..........

(a) CH, -CH, (b) CH,=CH
The nucleophile is not ............
(a) Lewis base (b) Lewis acid

(c) CH, = C (d) (CH,),=OH

(c) HO (d) Carbanion
The nb. of hyperconjugation structure is
(@) 3 ) 2 fc) 6 (d) None
The stablity of alkyl frze radical is due to ...........

(b) +I effect (c) —Ieffect (d) Botha, b
Which of the following compound most reactive towards

--------

(a)’ Hyperconjugation

electrophilic nitration is ..........
(a) Toluene (b) Benzene (c) Benzoic acid (d) Nitrobenzene
Which of the following has maximum - I effect ? .........
(a) F (b) NO, (c) CN (d) OH
Which one is most acidic ? ......... .
(a) HCOOH = (b) CH,COOH (c) CH,CH,COOH (d) CH,CH,CH,CO03
Electrometric effect complete transfer of ...........
(a) 'a electron (b) = electron (c) proton (d) both o, = electrons
CH, isan ............
(a) Electrophile (b) Nucleophile (c) Free radical (d) Ambiphiles
Correct ord+er of stablity of carbocation ..........
i + +
& O
o § &
(@ W>I>0 (b) I>M>0 (¢ WM>0>T  (d) n>m>1
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13. Hydrocarbons
15. Environmental chemistry

14. Haloalkanes and Haloarenes

TESTNO: 5

Choose the correct answer : » 50x1=50
1, Which of the following is optically active ? ...........
(a) 2— methyl pentane (b) Citric acid (c) Glycerol (d) None
2. The general formula for cyclo alkanes ...........
(@ CH, () C.H,n (c) CnH,, _, (d)CnH,_, ,
3. Which among the following alkenes on reductive ozonolysis
produces only propanone ? ............ '
(a) 2-methyl propene (b) 2-methyl but -2- ene
(¢) 2, 3 Dimethyl but — 1-ene (d) 2, 3 Dimethyl but — 2 —ene
4. Cis — 2 — butene, trans — 2 —butene are ........
{a) Conformational isomers (b) Structural isomers
{c) Configurational isomers (d) Optical isomers
5. Identify compound (A) O;ﬁ!c.ﬂx = ;‘E 3 Oj’ $A e
=1 cooH
w G = o» GS © @ @ ©
6. Which one of the following is non-am:_:_:itic R
ws sco e{() @)
7. Which ome is mot undergo Friedel craft’s reaction easily ? .-
o) Nitrobemsemc fbj Toluems /I Cumene (d) Xylene
B h'mmw:imwﬂlsxm?“mm
o C.H_ my CH,, i CH, & CcE,
9. 'wmﬁmmmﬁwmmm-vﬂ
s Torsional struin @b SSeric strmin 5 Angle strain () Both a. b
3. Whch o= 3= most stalle ? ——
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C - C - C bond angle in benzene is ........

(a) 120° (b) 60° (c) 45°  (d) 135°
Which of the following has maximum angle strain ? .........

W<l o] @ (Y @

Bond angle in chair form of cyclohexane is .........

(a) 109 °28" (b) 120° (c) 60° (d) 108°
Which form of cyclohexane is free from anglé strain ? .........
(a) Boat - form (b) Chair form (c) Twist boat (d) All of these
C - C bond length in benzene is ........

(a) 1.39 A° (b) 1.09 A° fc) 1.54 A° (d) 1.34 A°
No. of stereoisomers for CH,CH = CHCH, CHBICH, .........

(a) 2 m) 4 fc) 6 (d) 8
Dihedral angle in staggered form of ethane is ...........

(a) 0° (b) 120° (c) 60° (d) 180°

Which one has the highest boiling point ? ..........

(a) n - butyl chloride (b) Isobutyl chloride

(c) t - butyl chloride (d) n - propyl chloride

C: —X bond strongest in ....ccceeeeees

(g CH/CL () CHJI (c) CHBr (d) CHF
Ethyl formate react with RMgX gives .........
(@ R-CO-R rb)R—(]:H—R ( R-CHO (4 R-O-R

OH
The name of CF,CL is e
fa) Freon — 112 B Freon — 113 o) Freon -114 § Freom - 115
The most easily hydrolysed molecule under SN, condition IS -
jaj Aligl chioride @ Ethyl chioride
i) Wchw ) Benzyl chioride -
ﬁemwmrﬂiins‘ﬂjmm&dkﬂhwn&esb-
Step IS e
jaj so° hubridised @Sy Rypraiised

o gt M




24.

25.

26.

27.

28.

29.

30.

31.

32.

33.

34.

35.

36.

www.Padasalai.Net

CHCL, reacts with HNO, to g;ve

{a) Nitro toluene (b) Nitro glycerine (c) Chloropicrin (d) Chloro picric acid
The correct order of bondenergy of C —X bcnd is .......

(@ C- C1>C-I>C-Br (B C- Cl>C- Br>C- I

() ¢- I>C—- Cl>C- Br
Which one has high boiling point ? ...........

(b} 2 - chloropentane

(d) 1 - tetrachloro methane

(d C-I>C- Br>C-Cl

(a) 1 - chloropentance

(c) 3 - chloropentanone
C,H Br reacts with Na/Pb alloy to form ..........

(a) Ethane (b) Sodium ethoxide (c) Ethanol (d) Tetra ethyl lead
Which of the following halogen exchange reaction will occur in

acetone ? .....
(@) R —I+ NaCl
For reacting with
ZnCl, is ...cc.ot

(a) CH, - CH,0H

{¢) CH, - CH — OH
When alkylhalides are heated with dry Ag,O that give ......
(a) Diethyl ether (b) Ester (c) Ketone (d) Aldehyde
Which is a sweet smelling liquid ? ........ e
(a) CH,CI (b) CHBr (c) CHJI

is used in the treatment of goitre.
{c) Chloromycetin (d) Thyroxine

) R—-F+KCl (c) R—Cl+Nal (d) R-F+AgBr
HCI the alcohol which does not require

(b) CH,CH,CH,OH
(d (CH,),-C-OH

(d) CH,CH,CI

(a) Halo ethane (b) Benzoquinone
The order stability of carbonium ion is ...cccc....

(a) 1°>2°> 3° (b) 20> 39> 1° (¢) 2°>1°>3° (d) 3°>2°>1°
is used in fire extinguishers ........

ssssmssve

(a) CCl,=CCl, (b CHCl=CCl, (] CH,=CCl, () ccl,
CH,CH,Cl hydrolysis BY ceceneeens

(@) SN, (b) SN, (c) both SN,, SN, (d) E,
C,H,CH,CI féﬂ? ?

(@) CH.CHO (b CH,COOH  (c] CHCHOH (d) C,H,CH,

[
37.

38.

39.

40.
41.

42.
43.

44,

45.
46.
47.
48.
49,

50.
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Chloropicrin prepared by adding HNO, to ....... :
(a) ccCl, (b) CH,CI (c) CHCI, (d) None ‘
CSHSCI CuCN/523 K CEHJCN
? .
(a) NaOH m D (c) @ (d) Na
N

Which of the following is mnatural, human disturbance in

ecology ? -coeereese
(a) Forest fire (b) Floods (c) Acid rain
Bhopal Gas Trage dy is a case of ceerreneen
(a) Thermal pollution (b) Air pollution

(c) Nuclear pollution (d) Land poilution

Which sequence for green house gas is based on ..........

(a) CFC > N,0 > CO, > CH, () CFC >CO, > N,0 > CH,

(¢) CFC > N,0 > CH, > CO, (d) CFC > CH, > N,0>CO,

The pH normal rain water is ..... (@) 6.5 (b) 7.5 [c) 5.6 (d) 4.6
Ozone depletion will cause .............

(a) Forest fires (b) Eutrophication

(c) Bio magnification (d) Global warming

Release of oxides of nitrogen and hydrocarbons into the
atmosphere by motor vehicles is prevented by using .......... ’
(a) Grit chamber (b) Scrubbers

(c) Trickling filters (d) Catalytic convertos

Which among the following is green house gas P ceirnenens

(d) Green house effect

(a) H, (b) CH, (c) O, (d) All of these
R .... is responsbile for global warming ..........

(a) CO, (b) NO, (c) N,O (d) None
Identify the secondary pollutant ........ rvvenas

(a) CO () O, (c) pb (d) CH,

The pollutants of troposphere contains .....cc.es
(¢) Dust (b) Water vapours (c) Mist (d) All of these
Photochemical smog actually causes ............
{a) Soil pollution (b) Noise pollution (c) Water pollution (d) Air pollution
Permissible level of nitrate ions in drinking water iS eerenes
() 30 ppm () 40ppm () SOpP™

— NI.Std-Chemistry - O.M.T-5

(a)- 20 ppm
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XI - STD - ONE MARK TEST KEYS, 2018 - 2019

CHEMISTRY - EM
: KEYSTESTNO: 1
L @ 2@ 3 ® 4@ 5 © 6 © 7. (© 8 (@ 9. (b) 10. (c)
L@ 12.(b) 13.(b) 14.(c) 15 (a) 16.(c) 17. (d) 18.(c) 19.(c) 20. (a)
21. (@) 22.(c) 23.(c) 24.(c) 25.(b) 26.(d) 27. (a) 28.(d) 29.(b) 30.(d)
3.(b) 32.() 33.(d) 34.(a) 35 (@ 36.(d) 37. (c) 38.(a) 39.(c) 40. (a)
41. (b) 42.(b) 43.(b) 44.(b) 45.(a) 46.(a) 47. (b) 48. (c) 49. (d) 50. (d)
KEYSTESTNO:_Z_
L@ 2@ 3@ 4©@ 5@ 6 @ 7 (B 8 @ 9 (© 10 ©
I.(b) 12. (@ 13.(d) 14.(@ 15.(b) 16.(b) 17. (b) 18. (b) 19. (c) 20. (b)
21. (b)) 22.(c) 23.(b) 24.(b) 25.(a) 26.(b) 27. (d) 28 (c) 29.(d) 30.(a)
3L.(b) 32.(2) 33.(d) 34.( 35 (b) 36.(b) 37. (c) 38 (c) 39. (b) 40. (a)
41. (d) 42.(c) 43.(a) 44.(b) 45.(c) 46.(a) 47. (d) 48.(d) 49. (b) 50. (2)
: KEYSTESTNO:3
1. @ 2.0 3 @ 4 @ s () 6. @ 7. (d 8 @ 9. (b) 10. (c)
I.(© 12.() 13.(b) 14(c) 15.(a) 16.( 17. (b) 18 (c) 19.(d) 20.(d)
21. (@) 22. () 23.(d) 24.(6) 25.(c) 26. (b) 27. (b) 28.(b) 29.(d) 30.(d)
3@ 32.(0) 33.() 34.d) 35 (b) 36 (b) 37. (d)- 38. (@) 39. (d) 40. (d)
41. (@) 42.(d) 43.(c) 44.(c) 45.(2) 46.(a) 47. (a) 48.(c) 49.(d) 50. (c)
KEYS TESTNO: 4
L (© 2(0) 3 @ 4@ 5 @ 6 () 7 (@b 8 (@ 9. (b) 10. (a)
1.9 12 13.@ 4.0 15&) 16 17. (b) 18.(c) 19. (b} 20. (b)
2. (@ 22.(d) 23.(b) 24.(b) 25.(d) 26.(b) 27. (a) 28.(a) 29.(a) 30.(c)
31. () 32.(d) 33.(b) 34.(a 35. (é) 36. (¢) 37. (d) 38.(d) 39.(c) 40.(d)
41. (c) 42. (b) 43.(2) 44.(d) 45.(2) 46.(b) 47. (b) 48. (b) 49. (a) 50. (a)
KEYS TESTNO: S
. @ 2.() 3. (d 4 5 (@ 6 (@ 7. @ 8 (@ 9 (d 10.(@©
.@ 12 13.(@ 4@ 15 @ 160) 17 @ 18 (@ 19.(d) 20.()
21.(c) 22.(a) 23.(b) 24.(c) 25 (b) 26.(d) 27. d 28.(c) 29.(d) 30.(a
31.(c) 32.(d) 33.(d) 34.(d) 35 (b) 36.(b) 37. (c) 38.(c) 39.(a) 40.(b)
41. (c) 42.(d) 43.(c) 44.(c) 45. (b) 46. (a) 47. (b) 48.(d) 49. (d) 50. (d)
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